
Serial No.
Checked By:

     Tech
     Date

Box 1 - RSB137-126 Wt:  41 lbs.  Dim:  20" x 18" x 16"
Part No. Description Quantity Yes Remarks

1 RSB137-126 Scanner Unit 1
2 000-194-914-10 Fuse FRU-60V-FU-10A 1 SP03-19601
3 100-387-752-10 Insulation Sheet 4 CP03-37101
4 000-167-491-10 Hex Nut M12 8 "
5 000-167-397-10 Spring Washer M12 4 "
6 000-167-417-10 Flat Washer M12 4 "
7 000-191-051-10 Hex Stud M12x70 4 "
8 IME-366-80Z Installation Manual 1
9 C32-007-03Z Mounting Template 1
10 MDC-364-60Z Environmental Data Sheet 1

Box 2 - 001-512-620-00 Wt:  9 lbs.  Dim:  17" x 17" x 9"
Part No. Description Quantity Yes Remarks

1 001-512-620-00 Signal/Power Cable Assy 15M 1

Rev 6/22

PACKING LIST FOR DRS25ANXT w/cable

RSB137-126

For Internal Use Only

001-512-620-00

Page 1 of 1


	Sheet1

